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1. Introduction of Japanese
pension plans.
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2. Description of Employee’s
Pension Fund (EPF).
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EPF scheme

Employees’ Pension Insurance (EPI)

Basic Pension

EPF& Private sector workers ( 35.99 )

——— additional benefit

—— substituted portion

EPF can take advantage of scale

substituted portion

additional benefit



What occurs if EPF is terminated?

policy reserve for
additional benefit

policy reserve the
substituted portion
(=MinV)
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What occurs if EPF is terminated?

The company must pay
extra premium to make
up a deficit for MinV.

return to the government 1 - l
(=public pension
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Three types of EPF

(1) Independent type
- established independently by a (usually large)
company.

(2) Joint type
- established jointly by affiliated companies
(e.g., a parent company and its subsidiaries.)

- established by a large number of companies
(most of which are SMEs) in the same
business field or the same region.
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Three types of EPF

(1) Independent type )

J\

Possess plenty of money.

Decision-making is quick.

Cannot afford much money. ( ><

Hard to reach agreement




Changes of the number of EPFs
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Changes of the number of EPFs
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Some EPFs had
1000 - almost no chance to
improve financially.
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Who has to make up the deficit?

Benefit for the substituted portion must
neither be reduced nor suspended.

Each company has prime responsibility for
making up the deficit for MinV.

But when bankruptcy, it is usually hard to

pay all amount of their debts.
' — financial risk for the public pension.
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3. Contents of a law revision
on EPF in 2014.



Dilemma
( EPF is a financial risk for the public pension. )

compulsive termination?

Q Companies have to make up a deficit for MinV.
Extra premium is too much to pay for small companies.

reduction of the debt?
injection of public funds?

Q It is hard to give satisfactory explanations to taxpayers.
(It is absurd since most citizens are unrelated to EPF.)




Contents of the law revision on EPF

1. No new establishment of EPF is approved (since April 2014).

2. The formula to calculate MinV is renewed.
(The previous formula can also be used until April 2019.)

3. Deficit of reserve may be paid by installments.
(Limited to EPFs which is terminated by April 2019.)

4. The government will issue an order to terminate EPF
whenever asset< MinV X1.5 (after April 2019.)

5. The government supports establishment of succeeding
pension plans, such as DB and DC. (by April 2019.)
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Contents of the law revision on EPF

1. No new establishment of EPF is approved (since April 2014).

2. The formula to calculate MinV is renewed.
(The previous formula can also be used until April 2019.)

3. Deficit of reserve may be paid by installments.
(Limited to EPFs which is terminated by April 2019.)

4. The government will issue an order to terminate EPF

whenever asset < MinV/ X1.5 after April 2019.)

Only 10% fulfilled condition (4) in March, 2012
5. The government supports establishment of succeeding

pension plans, such as DB and DC. (by April 2019.)
All EPFs are motivated to be terminated by April 2019.

The law revision is virtually EPF abolishment (=terminating All EPFs).
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2. The formula to calculate MinV is renewed.
(The previous formula can also be used until April 2019.)

C on the surface) just a mathematical improvement.

but

Cche réal purpose) reduction of the debt

v’ Both MinV,, and MinV__, can be used.

new

v' The debts decreases : MinV_; = min{ MinV_,, MinV__, }
(Indirect ways to decrease the debt )



(re-
shown)
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Solution for Dilemma

( EPF is a financial risk for the public pension. )
The law revision motivated

EPFs to be terminated,
but not compulsive.

Ciompanies have to make up a deficit for MinV. )
S.

Extra premium is too much to pay for small companie

Yes, the debt was
virtually reduced, but in

an indirect way.

G is hard to give satisfactory explanations to taxpayers.
(

It is absurd since most citizens are unrelated to EPF.)
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Solution for Dilemma

Yes, the debt was
virtually reduced, but in

an indirect way.

reduction of the debt?

qguantified in Chapter 4
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4. Influence of the law revision
oh public pensions.
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Quantifying social cost to abolish EPF

( phrases )

social cost . expenditure of the government (or municipality)

abolish . do away with, get rid of

(in this context)

The increase in net expenditure (as the present value)
induced by the law revision to terminate all EPFs.

l hard to estimate all factors

For simplicity, let us define
social cost = MinV_; — min{ MinV_4, MinV
= |\/Iinvbefore o Iv”nvafter

new }
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Stock price indices in Japan
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Two questions

3. law reuvisic 4.infl. on p 5. conclusic

25000 discussion on EPF
20000 - till the law passe —
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. Question 1 Question 2
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Question 1
How much the expenses were estimated to be?
(at the time the bill was under discussion)
Question 2

How much the ultimate expenses will be?

(at the time all EPFs are abolished)
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Answer for Question 1

Question 1

How much the expenses were estimated to be?
(at the time the bill was under discussion)

Answer 1

The answer is clearly written on the discussion papetr.
(The base month of this analysis is March, 2012)

4 N

600
billion yeni

(1 US dollar =107 yen)

1,100
billion yen

- _/




Before answering Question 2...

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

6.0

5.0

Whether or not an EPF has

eficit in substituted portiof Threshold to fulfill the condition (4)

on Table 1 (the requirement to exist)

4.0

40% 50% 10%

vertical axis : the ratio of the asset to MinV
horizontal axis : represents each EPF (ascending order)
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5. conclusic

Before answering Question 2...

Question 2

L

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

Threshold to fulfill the condition (4)
on Table 1 (the requirement to exist)
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Before answering Question 2...

Question 2

How much the ultimate expenses will be?

(at the time all EPFs are abolished)

50

50
(Whether or not an EPF has
efiit i

50% 10%
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Before answering Question 2...

Question 2

How much the ultimate expenses will be?

(at the time all EPFs are abolished)

50

50
et E a
efiit i

0% 50% 10%

mmmmmmmmmmmmmmmmmmmmmmmm
mmmmmmmmmmmmmmmmmmmmm
ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ

Two suppositions l

1. All EPFs have the same value of MinV.

2. The values of MinV after the provisional
measure are also the same.
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Before answering Question 2...
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Before answering Question 2...

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

600 billion yen

0% 50% 10%

zé74 sEVT _ == . _
L IMinV,.., = 22.7 F|MinV, . = 24.8
e — ) (billion yen) (billion yen)
HHHHHHHHHHHHHHH -8 7y after
Two suppositions I //
(MinV are same)
N /)

-14
.15 J
vertical axis . the net deficit ( = MinV — asset)
horizontal axis : each EPF (ascending order)
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Before answering Question 2...

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)
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Two suppositions
(MinV are same)

MinV,.,, = 22.7
MinV, .. = 24.8

vertical axis . the net deficit ( = MinV — asset)
horizontal axis : each EPF (ascending order)
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Before answering Question 2...

Question 2 600 billion yen
LHOW much the ultimate expenses will be? Rk m,{s nps BAEENERERRARARS
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Question 2 600 billion yen
How much the ultimate expenses will be? Rk m,{s nps BAEENERERRARARS
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Question 2 600 billion yen
LHOW much the ultimate expenses will be? Rk m,{s nps BAEENERERRARARS
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Before answering Question 2...

Question 2 600 billion yen
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Go back to Question 2

Question 2

The increase rate is
replaced by the actual
rate of yield.

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

50% 10%

mmmmmmmmmmmmmmmmmmmmmmmm
mmmmmmmmmmmmmmmmmmmmmmm
NNNNNNNNNNNNNNN

(MinV are same)

Two suppositions l

MinV,.,, = 22.7
MinV, .. = 24.8

— EPI(after)
EPIl(before)

vertical axis . the net deficit ( = MinV — asset) -20
horizontal axis : each EPF (ascending order) 25




Go back to Question 2

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

10% 50% 10%

mmmmmmmmmmmmmmmmmmmmmmmm
mmmmmmmmmmmmmmmmmmmmmmm
aaaaaaaaaaaaaaa

Two suppositions
(MinV are same)

MinV ¢, 22.7
MinV g oe = 24.8
vertical axis

horizontal axis

Termination date
: March, 2013

9.57%

12.21%

0.34%

12.21%

e

. the net deficit ( = MinV — asset)
each EPF (ascending order)

o

23/28

600 billion yen

205
219
229
241
253
265
277

= hefore

— gfter

-16

569 billion yen
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Go back to Question 2

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)
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horizontal axis : each EPF (ascending order)



Go back to Question 2

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

50%

mmmmmmmmmmmmmmmmmmmmmmmm
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Two suppositions
(MinV are same)

MinV ¢, 22.7
MinV g oe = 24.8
vertical axis

horizontal axis

Termination date
: January, 2014

17.03%

21.88%

2.75%

21.88%

e

. the net deficit ( = MinV — asset)
each EPF (ascending order)

/ _

-16
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600 billion yen
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551 billion yen
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Go back to Question 2

Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

I
50% 10% FFFFFFFFFFFFFFFFFFF
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horizontal axis : each EPF (ascending order)
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Question 2

Go back to Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

2012/3
2012/5

50%

12012/7
12012/9
12012/11
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-400

mmmmmmmmmmmmmmmmmmmmmmmm

Two suppositions
(MinV are same)

mmmmmmmmmmmmmmmmmmm
NNNNNNNNNNNNNNN -600

I\/ImVafter =

I\/Imvbefore =

-1,000 /

22.7 /

24.8 -1,200

vertical axis
horizontal axis

the net deficit ( = MinV — asset)
each EPF (ascending order)
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Question 2
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Go back to Question 2

How much the ultimate expenses will be?
(at the time all EPFs are abolished)

50% 10% 0

; — -200

//
. -400
0:4 /
]
Two suppositions
) -800
(MinV are same)
i -1,000
MinV q., = 22.7
MinV g oe = 24.8 -1,200
vertical axis

horizontal axis

2012/3
12012/5
12012/7
12012/9
12012/11
12013/1
12013/3

1 This gap represents the social cost if
all EPFs were terminated at this month

— ~—
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N N N N N N N N N N N N
T T T T T T T T T

/ = before
/\ — after
—— — Yf—
V
/ - /

Y

/

Not incur the social cost in this period
in terms of the definition in this paper.

/

the net deficit ( = MinV — asset)
each EPF (ascending order)
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3. law revisio 4. infl. on pul 5. conclusic

5. Conclusion and further
discussions.
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Conclusion

v'The social cost vanishes (as long as its expected
value is focused on), even though it was estimated
to be as much as 500 billion yen in March, 2012.

v'The strongest reason is the drastic increase in stock
prices since 2013.



Thank you for listening



Further discussion

v'In this presentation, the social cost is defined as
max { MinV, 4, — MinV 0},

after 7
but some people may assert that “social cost”

should be

Iv“n\/after - IVlinvbefore'
instead. Based on this definition, either “social cost”
or “social gain” is considered to have incurred for all
EPFs which terminated before April, 2014.



